Supplementary Coding Files*

Stiffness (N/mm):    
     CurveFit/NTHR=0/TBOX=1023 line  forcedefl[pcsr(C),pcsr(D)] /D 
     ModifyGraph rgb(fit_forcedefl)=(0,0,0)
     ModifyGraph lsize(fit_forcedefl)=2

Yield Load (N):
print xcsr(D), vcsr(D)

Maximum Load (N):
print xcsr(B), vcsr(B)

Post-Yield Displacement (mm):
	print xcsr(B) - xcsr(D)

Work-to-Failure (N*mm):
print area (forcedefl, xcsr(A), xcsr(B))

* (i) In the code above, the load-displacement curve has been named “forcedefl”. (ii) Analysis was performed in IgorPro (Version 8.04) (iii) Reference Figure 5 for cursor placement.
